M3000-00 Fault Finding 5.19
5.3.11 Power Amplifier Fault Finding
POWER CONTROL FAULT Set radio to transmit,
open loop, 7.2V. PA FAULT
N Is the PWR-SET pin Pgl?ft:govrglt:%gnenggtg?n%o'zo Is the output Y Is power output:
— of IC509 adjustable —— (PWR-SET) ad'ustrfble power adjustable<t—— >4.5W (T3000-4000,-5000,
between 0 & 5V? ! to OW? -7000); >5.5W (T3000-3000)?
between 0 & 2.5V?
I v K [
Tx inhibited. PA OK. Is the radio >1.5A or is input power
Is the voltage from *M100 output test point:
v trﬁ;hﬁ)%ﬁq < N1 onicioz pin 3 Zg@vzl.rgo?’oooo_ggg)(gg’ -5000, -7000) Is the antenna Is there approx. Is there 6V at | N
Check D/A. adjustable? . S . switching correctly? 1.5V on top of L1047 the top of L104?
Note: Use coupling capacitor:
150p for T3000-5000/7000
J7 Y 1n for T3000-3000/4000. J7 N J7 Y J7 Y
Set Tx power N Check antenna Check filter & PIN Check L104,
to maximum. switch/connector. switch components. D103 & D104.
Is there 7.2V on *M100:
pins 6 & 8 (T3000-5000, -7000) Y] 'Ssgzggeo?é\ll 1%07‘“ Y ) Ch‘ifgci‘;pp'y Check D102.
Is the emitter Is there >6.5V on *M100: or pin 12 (T3000-3000, -4000)? ) )
Check Q101. <+— of Q102 >2.5V? pin 3 (T3000-5000, -7000) or N
T pin 6 (T3000-3000, -4000)? J7 Y = Check R110.
K K
Is there 6V on *M100: Is there 6V on pins
s the outbut of pins 2 & 4 (T3000-5000, -7000) or—N-t 15 & 16 of the loom V- reCIl](Iez:tlng(\:/irzl)J(it
Check Q102. |— utp Are the inputs of IC101 . pins 3 & 7 (T3000-3000, -4000)? on the control PCB? 9 )
IC101 pin 1 >3V? . . Check resistor
(pins 5 & 6) <2.5V, with sense network
. ) 5 )
J7 N difference approx. 0.1 - 0.3V~ J7 Y Y = Check loom.
Y
J7 Isthere 5V on [ N Check the
Replace IC101. IC101 pin 8? ™1 sV regulator.
Is the output of N
IC101 pin 7 ———{ Check IC101. Y
approx. 1.5-2.5V?
Is there >6.5V on *M100: , .
K i (130003000 4000 a{ Nt [0 07 2V S PWRLSET LY f lethre o2y LY o fe1GI0E | N-foeacicior
pin 3 (T3000-5000, -7000)? P ' pin s P '
Return radio to
Tait Service Centre. Y J7 N J7 N J7 Y
N |Is 'PWR-SET' pin Check loom. Is the emitter [ Y
D/A problem. 1< on IC509 high? of Q102 >2v2 | ] Check Q101.
N Is there the correct J7 Y J7 N
Check VCO. [<—— amount of drive from
the VCO to the module? Tx inhibited. Check Q102.

J7Y

Check *M100.
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